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6H29H(+) #%HA

¥ AGIMKEDENT &3 LEd,

A 4 X M | RS- ABRIEHEG i 5=
BHHN 6/ aF 5kg i kg 800 EE
BHYN 1B =aF 5kg 5= kg 750 B
BHHN 8E aF 5kg & kg 700 EiE
BHYN 102 =i 5kg i kg 650 EiE
= TA 1B FE 5kg 5B kg 800 EE
il AN 8 FE 5kg b kg 700 EiE
=l AN 102 FE 5kg i kg 650 EiE
Y 7/9kg dbiEE 1A Ee kg 900 EiE
754 2 eiEE | 10/13keg e kg 800 FiE
ES<Y 2 R I% 10/14kg 5B kg | 1,400 EiE
ANE N 3kg =i 1A i kg | 2,000 i BER
hvx 4/5kg FE 1A 5= kg | 1,500 #
Hhvx 2 FE 6/7kg 5= kg | 1,300 £
149+ 5/6/% ZiE 3/4kg & kg | 2,700 ETE EX
ARXF 2/4% FiE 4/5kg bS] kg | 2,600 TBE
H3F 6/ =W S5kgHIl % & kg | 1,250 EiE
TH 2kgE R 1A ) kg | 2,300 EE &~
ABYINE ZiE 500g 8 P | 2,600
M7 102 FEF P P | 1,200
BHE7 102 BHE 1kg P P | 3500
ISR 100g N P P 500
Ry+H #9300¢g JtiEE & kg | 1,600
HHT 100/130g & & kg | 3,200
HHT 150/180g | FI& & kg | 3,200
HHT 200/250g RI& & kg | 3,200
HH4T 250/300g RI% & kg | 3,400
BEYYT 30/40g A B kg | 3,200
IEHHT 40/50g i1 ] B kg | 2,800
EYHT 50/60g i1]=] & kg | 2,700




